0002148451587999

O LEEBRXY 06—0—

e

20154 1 WI2HHE %3 M

DEMOERIZE TR E SR EYLBUEZ AT L.

3
o eF. S 135 B v

‘4 —

3 |AB=4, BC=10K/jE ABCD &£ =f4JE APQ 2 3.
Bz, HRQIECD RiZdhY, CQ=4BP (BP*0) 2i#i/~L T\5.

2r3,

=4IE APQ OTEA P I EHLE ABCD @ BC
=ML APQ Oififie S HWT, X

3
1. o 15!
() BP=0r%, S= m;a% ,
(2) =fi ABP & =1 ADQ OHEROMIL [ 17 | THB. 2 2
(3) BP == (0<r<l)t:}5<2:8— [18]a2—[19 Jz+ [20 ] THY, S=Lesni
2 z
NeueYea) _ [ (%13
DEETHD. Frx= DL ESIEENERY, T
[28 ]4 [25 ]2 ) [27 12
Thd.
3
(" BP=zats CP=Z.ca=4BP=1 Pa=3 a & D
_ 1 1 3 ,_1 Q
ST4xi~5-z4-5-21-73-31 " \
. . 40
- 44 .2 _3
= g o3
BY%p ¢
= ..[_3— 1
-—-—-g-——//
(2) AABP #5ADQ = £ 48P + 7-(4-48P) 1 = 2
(3) S= 4~ (nABP+AADQ) - APc@
= 4-2—%-(1%)-41
= 2-2x(1-2)
= 2~ 2a +2
N 7 ' . g1464-48
20 -21+2= 7 £B{<. BX-@AF1=0 B e
.].
oy = 2% 42 ok, O<AE T EFRT
4
%
{ 2 3
= gl=g) bg




